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9. mﬁmmmﬁmﬁﬁwvaﬁﬁmmmm
. AT RS ? IR 9 TR L Y+¥=90
Why does a commercial bank disbuisé loan? What prmcxples a bank
follows in loan disbursement? Explain detail. 5+5=10 -
R _ﬁmmmﬁ—aﬁqmevﬁﬁwmmwﬁ—éa7
- TEnTRR g =0
- Which parties are involved in remittance transactxons” What are-the modes
of remittance? Explain. - 545=10
3. fafrim sfyeres @, 03¢ mm%@m%m%-mm
! B? ST TR | 0
- What is the provision of Crossed Cheques accordmg to Negotiable
Instruments Act, 2034? Elaborate. 10 ~
Y. fogdm wReR Tty 29, 2083 B 9=k QWMW g T
FTYFHR IeE THEH | : 90
Describe the Functions, Duties and Rights of Subscriber as per The
Electromc Transacnons Act, 2063 Chapter-6. : 10
T e ‘g - Yo HEEH
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What is financial statement? Why a commercml bank prepares a financial
statement? Elaborate. 3+7=10

AL - ﬁm@mmﬁmﬁﬂnﬁ%?ﬁﬁ“ﬁl@iwnﬁaﬂl - %0
Explain about the headings that are included under Profit and Loss'A/C. 10
ﬁaﬁm@mﬁﬁfmﬁwﬁﬁfaﬁwmﬁnmv
AT TR | 4 N=90

Among the methods of inventory management which -method is the most

-important? and why? Explain. - : 5¢5=10"

& \mmﬁaﬁzm#gﬁﬁfwaﬁmmmaﬂhﬂﬁam %0

qo0.

Describe different methods of depreciation of fixed assets with examples. 10
‘grs: T : 0 AqEH
A T SHe ST 7@ Information Technology Guidelines ‘ﬂﬁlﬁm EEd

_qon foim weemesd Softwarem"ﬁflﬁﬂaf{m oH fegue?
TR | = 90

According to Information Technology Guidelines issued by Nepal Rastra.
Bank, which pomts should be taken into account while developing software
by bank and financial institutions? Write down. 2 10°

Computer Operanng SyPtem WWE B B2 T YU - Sl EFP:%F
TR TES? SSRERd ﬁ'@?ﬂi | What is Computer Operating System? .

What functions does this system perform? Write with examples. 3 +7 =10
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m:am S ; = Tm@w,

fowg : Wnﬁmmﬂmmﬁ

-memmmmnmmwmﬁw: |

> _'i,

eLcHRe A : Y0 IEH

qﬁﬁ"l}’f “1&!35! '@R@’ ﬂﬂﬁ'j@ﬂ | What is meant by internal control” How does

internal control play important role in C’orporate Govemance? State 3+7=10
mezmmam@m e R e
Why and how work performance appraisal is done? Elaborate, 10
e S RE WA R, W, F6@ W w 9e
ArewiEa ferd o S s e T e g

-WWWWWWWWIR%M&nga

circular achieved er/m central office to auction the old furniture, almirah

(cup-board), chairs and a ruined motorcycle existing in a district level

office, present a specimen of a T/PPANI for a necessary decision making. 10

. eI et T SR T s TR | SR e e a
' mﬁwﬁzwﬁm—%mwﬁﬁaﬁwmﬁnﬁmmmomm

differences between office location and office layout. What aspects of such
location and layout should be considered while estabhshmg an office? Explain.

ﬁaﬁﬁawﬁzwﬂwﬁ%?w“ﬁm 90
How is the: recruitment and selection of employees done? Descnbe 10
Gl wﬁﬁ@ﬁ?mﬁqmmmmﬁamq@m 3+6=90
What is Training? Clanfy about the Training Cycle with examples. 3 + 7 = 10

. grs: “@’ o R0 A
S FHEH 4195 aﬁaaqmmwﬁ!m mwmtﬁaf‘am#ﬁmmﬁ
ﬁmmnmmﬁmm@é?ﬁﬁmm ¥0 Jfem, 4o
TR 0¥ e T foe wemen ofs ™ wﬁa%wﬁa@aam
Hid E‘-@’ B Wﬂ?‘aﬁ'{{ I The ratio of seats in a college for mathematlcs
management and biology subjects is 5:7:8 Now, if the principle of that

college increased the seats by 40 percent, 50 percent and 75 percent
respectlvelym those subjects, what is the ratio of mcreased seats? Find. 10
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90.

e - Yo HES
mm%mmﬁ mm@nﬁm Fos 40
Elaborate the current status of Banking System in Nepal. : . 10

FrE ThReE U e | fafve vere févee S fR e w

75?7 FNURE fSe | Describe the types of depositors. Why does the
interest rate differ in various types of deposits? Give reasons. 6+4=10
3o won fersfra Heen Wl 8, 2003 mmaﬁ:ﬁmm T
T TR TR T TR | 90
According to the Bank and Financial Institution Act, 2073 clarify about the
provisions of the functions, duties and powers of Board of Directors: ~ 10
a1 FEE A T U, R0%Y H TG FERAEEAR Seaid TR | 90
Elaborate about the salient prov151ons of Bankmg Offence and Punishment
Act, 2064. ; 3 : 2240
s g - ; YO T
AETEUH E T Agery | Al aamﬁm o S
SETTAEIT ¥R UES? FU THerE | Clarify the objectives of auditing. Why

does final audit depend upon internal audit? Describe. 5+5=10

. e fexima fereomnt TS %—$§a>ﬁ?ﬁqﬁwmm“ﬁ% _
mvﬁmﬁmml s L+¥=9

What are the qualities of a good ﬁnanc1a1 statement? Elaborate the major
headings that are included under the financial statement. :
ot =eea fafemn Weighted Average Method G‘F*'I First in First Out
(FIFO) T Last in First Out (LIFO) Method %=1 T Sugeh ife?
HRUMGA e "-TE@'F[ I. Why Weighted Average Method is considered
more appropriate to First in First Out (FIFO) and Last in First Out (LIFO)

. Methods? Clarify with examples.  ° 10 °
TS AR Seheh! ISTTRToeh! SliTes $-% §17 SIS TR | 90-
What are the sources of capital fund of a commercial bank? Explam 10

: ‘ R0 HEH

mwﬂmm’;ﬁ@wﬁumgma@ﬁm%-#"

= B2 'oﬁ‘nai?fﬂ | What are the main features of the IT Policy issued by
. Nepal Rastra Banlk? State. ’

Data Security System ! & B1? mmm TEH! e s ?
AT ‘Tﬁifﬁ | What is Data Security System? Why is it necessary m an

ARED =y

~908 ~
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e %0 e
g o WWWWMWWI 2 i gp
. Clarify in brief about the principles of management of Henry Fayol. 10

R. o st & 2, forfr forir m@mmmvm.
What is decxslon” What factors affect the decision making capab:hty‘? State. .
: 3 +7=10"
R WWMWW %ﬂagwuﬁraﬂaw ¥ T Y
Srff et e e wreRen i gl W hen wfe o
fafiee, sl FrIfer, FTEHEITE T8 T o1 9K THer | Prepare
a sample letter to send fo Rastriya Banijya Bank Limited, Central Office,
Kathmandu, requesting to make necessary provision for waiting room, toilet
and a guest room in the Branch Office of Rastriya Banijya Bank, BhOqur 10

Y. FEEE OEEE m%wmmmmmw

T THGTIRS ATISgIED? IUF TR | ,
What is office layout? What principles should a mapagement follow to
. prepare an appropriate office layout? Describe. 3+7=10
4. Tferht aReT R wifer] TS SeeRd TR 3+9=90
Defining training, explain the types of training. _347=10

%. .aﬂammméw ? AP FHIR TR 0 956
ST RS ? U T8 | What do you understand by employee relation?
How can aleadership strength employee relation? Mention. -10

s g : : ?0 qAH

e. maﬁahw“q"sﬁmémwmw uﬁmanammh | J&A
¥,%0,000 T T ol STEhI 9% mwmnﬁmsﬁaw“@
1 el TR 7 D TR 2 T TR : 90

In parliamentary election, candidate "A" received 75 percent of the total
valid votes. Total votes cast was 5,60,000, of which 15 percent votes were
declared invalid. how much vote did candidate "A" receive? Find. 10

©. T, T TERA H R R, R T &Y T 0 T waew | firfesa
& T O faoR e M W | e Tee v S | 3k e O e
m&ﬁ?mma@#ﬁm.mﬂﬁmﬁﬁaM? .
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wfiga wifosy S fafiee, WwiRm, 7R, ), W= (7) v
R09¥/93/9%

foraa : Sy, < aon = wiafy

[ mmmwmmlmmmmml ]

q0. .

gog: ‘T :
mwmm*gﬁw7mwmﬁ%mmmwﬁ

-SRI RS 2 SR "'Iﬁﬁfﬂ | What is meant by loan classification? How is loan
classified according to the directive of Nepal Rastra Bank? Explain. 4+ 6= 10

Sfhen! e TRVl FagRIeEan foRgaa Yohrer e, | 5 ‘10 :
Highlight in detail about the client protection principles of banks. '
AU TR FF W ?oxcmgma Wmﬁat

- AfYEFREE & & g1 2 9UF oo |
What are the functions, duties and powers of Governor of Nepal Rastra
Bank according to Nepal Rastra Bank Act 2058" Describe. 10 -
TR g Hrmﬁﬁ) aogx ‘v‘ﬂ’L s et 3%

Qaﬁmhma TR G YR FO2 ORI 0

What major achievements has. Nepal obtained after the implementation of
Anti Money Laundenng Act, 2064‘7 Wnte down. 10

R G TUEE YR ﬁm S a e | w:gi
Terdrares i SeeRE TR | Write down historical development of Double Entry

. Book Keeping System with its definitions. Also, explain its features.” 5+5=10

Tger YR % B 7ﬁmzmﬁwvﬁavmﬁam@ma

- What is ’I‘nal Balance? Why and how is it prepared? Explain with specimen. -

3+7=10
g FomeiEn st Free TR Hewmify SemTer O i e
SR STIES TR T ST ToRPToT HoTetoh! ST Seerd TR |
Highlighting the importance of internal control system in the banking
system, -elaborate about the existing internal control system adopted by
Rastriya Banijya Bank. - 5+5=10

e T Seheh! Frefrehren snuRe wef $f 3 R g afenfi

T |, T wﬁ%a‘aamﬁ?ﬁwwmwnjqﬁ

=IH Eﬂﬂ ‘Fﬁ t»a’r i ’Tﬂﬁ?{ | Define capital and

supplementary capital on the basis of the NRB Directives. Describe the

minimum level of paid-up capital and capital fund to be maintained by 'A,

'B', 'C'and 'D' categorised bank and financial institutions. : 4 +6=10
gre: 1

. Operatmg System ‘HT?I ‘q’\: ghes ? Operating System? Apphcanon Software

Sl fiTaes o9 THRE | What is an Operating System? Explain the
differences between Operating System and Application Software. 4 +6=10

AT AL SAHh! = e Hifeen! wg@ T IR | 90
Clanfy about the main features of IT policy of Ncpal Rastra Bank. 10
aa
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ﬂﬂ:f&?ﬂ‘!‘ oL : v :
THY: 3R Ui : 00

fovg : =eems, ﬂﬁmmﬂmwﬁ’r

A mmmwmmammm@m 1

S 7

-t

¥0 HEH
'iﬁaﬂﬁﬁ%aﬁmwﬁmﬁqﬁwmtgﬁaﬂmm

: TI‘:[?T& | What is leadership? Exp]am strengths and weaknesses of leadershxp

in the context of Nepal.
WP gemeeh! uiEE g | Wﬁ G SRR maza
I Tlﬁ'@'& I"Give an introduction of Corporate Governance. State the
fundamental principles of Corporate Governance. 3+7=10 .
| (Write in brief) : L 4+=%0
‘GF) fewuft (Tippani) i
fHeRa S| ST (Necessity of record management)

.‘-mmmmm%av FHTEEER] HTEIITA R PIereaTeh!

© TEqYl 4T §O 2 TS TTHRIE, | What is office management? How the

0. TS

; 4 Y0 SEH
= Wmmmmﬁqaﬁﬁ-mnmé@rm7m

role of filing is important in office management? Describe. 10
gvs: ‘g

FHIHTHIEA TGS 7T & FHl A ATRTH 52 TR |
What impacts of training can be seen on employee's ormance" Wiite down. 10
FHHERH! F R FE0 TR TS 2 TR qo ,

How is job description of an employee prepared? Clanfy

B e g

HehgEHT HIvH! TET HIqeeh! aRAT TEIeR | What is meant by fund?
Why should the banks manage the fund? State the main sources of fund of
commercial banks,

mm&ﬂammwmmﬁ-m

- SIS W ? aaraaaq | What is remittance? What measures should be

adopted for mward flow of remittances through banking channel? State. 10

: gus: T : R0 =
3 3. 3. Y0 T 7. 30 ﬁgmmaxﬁaﬁmm@
B | frameT S uf .. Hed i e U e ege L %0
Two types of rice costing Rs. 40 'and Rs- 30 per kg has been mixed i m a :
ration 3:4. Find the cost of per kg. mixture of rice. :

TP T wxoma@aﬁanﬁmvﬁm%
uﬁmmmﬁﬁ@nsﬁamwﬁvmwmtﬁah :

TEHheAsh! fosht F 9wl TSR | Ram purchased two cycle in Rs.1,750
each and 5old a cycle at the profit of 13%. Finally, he had to bear 4% loss.

Find out the sellmg price of second cycle. 10

B ycfondts
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90.

s s YO S
Aurerh! i e figa SifiRe et Tt ST =ren TR |
amrﬁlﬁamwﬁﬁgm#a:&hmm% 2 JqUA
"ﬁ'@ﬁ | Describe the role played by Rastriya Banijya bank on the economic
development of Nepal. What steps of reform should be adopted by this bank
m the commg days? Explain. : 5+5=10
% S 2 SHSHRI % o T B 2 Fyfreh 3=a wlatugs
mmmmmmm: R+3+¥%=90
What is meant by cheque? Why does cheque differ from draft‘7 Elaborate
the pros and cons of modern hi-tech means of payment.

on fafia T T O, qoeammmgsﬁrqﬁmrqa

TRTH FGEE ST ﬂﬂ'@ﬁ | What are the different categories of bank =

and financial institutions as per the Bank and Finical Institution Act, 2073‘7

Describe the basis of the classification.
Sferg =g a2 T W, ROixmmwwwﬁmﬁanﬁm
FHYEE Ieoid THeH | According to the Banking Offence and Punishment
Act, 2064, state the offences which are defined as 'Banking offences’.” 10
grs: g ‘ ¥0 GE?F
WMMMW@HIWWWWW »
JoTett fer wfeeenes TRTs! §1 ? FRURE Seei@ THRI | Highlight about the
principles of accounting. Why ‘Single Entry Book Keeping System' has been
replaced by 'Double Entry Book Keeping System'? Give reasons. - 6 +4 =10
a%m JhgeEd @R A fodE Rocic :
e ﬂﬂaﬁ | Explain with examples the major headings of f'mancxal
statements prepared by commercial banks. ‘ ; :

T SITEE” Y & 9RES 2 aﬁ TR Twﬁ
mramtsﬁsmaiﬁ 1 ST faveunl e 2 Seeid T9erd | What
is meant by 'Operational Risk' in banking business? What major risks are .
analyzed while tecommendmg loan proposal of a borrower? State.3 + 7= 10
GG R S B 2 eI faftreeated a9 Hew

I 7@?{ | What is Inventory Management? Explain the 1mporta.nce of
Inventory Management with 1ts techmques ; 3+7=10
0 AEH

,mmmmlm@mmﬁm ? TR
Y8R | Stare about the types of database. How the security of data can be

maintained? Clarify. 5+5=10
Internet, Intranet T Extranet si< & TE D 7 Banking System‘m Internet,
Intranet T Extranet T 31a9as ® 2 99 ﬂj@ﬂ | What are the differences
among Internet, Intranet and Extranet? Why Internet, Intranet and Extranet
are necessary in Bankmg System? Describe. - e 5 +5=10
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, Waﬁmﬂmﬁﬁé@ TR, e, mmwﬁvﬂﬁmﬁﬁﬁaﬁm

R06¥/99/%, Z
T : 390 3 b ... GuiEmRzq00
| mmwwmmnmmmmn |
s H ¥0 JFEh
e Wmﬁﬁmvmmmwmn S ¥ +5=90
~ What is meant by management? Explain its major functions. 4+6=10

R T R B 2 WO A6 G I FE T RS 2 F e |
) What is conflict? How can conﬂxct be managed in an otgamzauon level?
= Clarify.” 10
3. s g faf o @W wmﬁ:mé mﬁmmﬁm
Shen! YT e GRS Sl YuTe T Yoo e T T
RIS Tlﬂ?f\ﬂ'l What are the matters to be considered while writing a official
letter? Prepare a sample of a letter that is written to Nepal Rastra Bank for

~  the supervisions of branch office of Rastriya Banijya Bank. 4+6=10

¥. :mﬁﬁguﬁ%a?mﬁtmﬁmﬁaﬁmmmn
~What is ﬁlmg"' Clanfy the relationship between ﬁhng and mdexmg 3+47=10
gEsw : Yo IEH
Y. S SR ST Wﬁ%ﬁm?%ﬁ%ﬁﬁwm g

What is meant by Human Resource Management? Explain about its
objectives. 3+ 7=10 .

e mﬁr&éwmﬁﬁ'@l 7mmmmwm§am

; : What is job Analysis? Clarify about its.importance in an office. 1 +6=10

o, $) TS SHIATH] Toh! STRTT 490 THFT! . X0, T Y TE R0 HIAEE R:
Mﬁaﬁqmmwﬁmméﬁrzmﬁaam?wmﬁaﬁm
If a bag contains Rs. 510 in the form of Rs..50, Rs. 25 and Rs. 20

notes in the ratio of 2:3:4, what is the number of notes of each type?
Find out. : : S

W) ! T HIETHER . 10,000 H BT T F. 3¢, 440 mm
TE TR AR SR = AR <. 9,¥0,000 T = W I -
HfcRTd AR ”‘Fﬁi ? Ram purchased a'm motorcycle of Rs. 90,000 and

spent Rs. 25,550 on its repairs. If he sold the motorcycle for Rs.
R | 40 000 what percentage of profit he-made? 23D

~%3~
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A, BT C R S 94,30 T 30 e G 7 e | R Fer i P

- M TRUMS A W FH 9158 B T C W Hfe A Fi %@ 761 1B @ 5% Iw

mﬁﬁmﬁmmlmﬁmﬁﬁaﬁamvw

: G"‘ITS’ﬂ'@HI : q0

A, B and C can complete a work in 15, 20.and 30 days respectively. They
all work together for 2 days then A leaves the work, B and C work together
for someday and B leaves 2 days before completion of that work. How .
many days are reqmred to complete the whole work? Find out. 10

e 1 © HATHF

‘BASELUH?IW@HIWWWWWH#%—
. HE FAERE T T 2 JUA "'Ei'@ﬁl Introduce BASEL II. What initiatives

have been taken by the Rastnya Bangay Bank for risk management?
Explain. : . 7 4+6 =10
o S R ﬁa@qnaﬁmmﬂqﬁm

Give an introduction of " Commercial Bank. Write ‘the functions of
commercial Bank. Sy Aoy : 3+7=10
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R08¥/03/33

T : g R | :
W 3w : ' Eﬂiiﬁ:‘ioo

T mﬁmmmﬁﬁq

[ mmwmmmwmmmwu |

9,

s : ‘w' : : Y0 HASH
WWMWIW%W%%@?WW ‘
SehehT SVIEE AR |

Define central Bank. What are the major functlons of’ central Bank? Write

- down the objectives of Nepal Rastra Bank. . 7.5+75+5=20

et g Feh A, 045 STTHR TSI TR o4 L IGH FH, FEAT

- iR R SR THeE |

According to Nepal Rastra Bank Act, 2058, write about the formanon of ’
Board of Directors and its functions, duties and powers. 5+15=20
grs: g it ¥0 HAEH
mmmmu@ﬁémmmﬁﬁfw
SeRITEd T TR | ‘
Introcducing about the double entry ‘book keeping' system, clarify the
methods of preparing Trial Balance with examples. 8+12=20"

! I T B IBFD 2 T e TR g FeeeR I

TR X B SRl A S TR THER | What is meant by bank's

capital? Explain the terms incorporated in the bank's balance sheet and
prepare a sample balance sheet for any bank. ? 6+8+6=20

e : % 0 AEH

) mmm@mmmzmmm

Sﬁ@ "'Iﬁ'?f%{ | Define computer operating system and mention the
functions of operating system. 10

m)mwamvmmmﬁmmml

TARSS ? A TR | What is Microsoft Excel? How does its
support the functing of an offficer? Explain. : : -10
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o : e ! AR
Y 390 =  UiEw:q00

S
n@qaﬁmﬂmm T, <, mwmmm
. foafga e

00¥/3/3¥

farwy « ST, nﬁmm@muﬁnﬁ

[ mmmmmmnmmmm@m |

s w - S0 AEH

> aaa@masmﬁaﬁs‘l ? I ST IS I e eI
- FTUe® V&R | What is management? Clarifying the scientific theory of

management, write down the functions of management. 5+8+7=20
FTHHOER W S IED 2 TRV Sevd T STHE SThATIh
mwmmmn ‘. Y+9+5=30

What is meant by indexing? Describe the objectives and qualities to be:;

considered of a good indexing. - - 5+47+8=20
.,‘_me%ﬁ7mmwmaﬁ

W%a:ﬁ?awsqﬁlﬁmme Y+ +5=30

- What is performance appraisal? What are qualmes in a good performance -
- appraisal? Elucxdate its uses. , : : 5 + 7+8=20

e g" , AT

) fR T Praa B9 w5 A 95 TRy e 7 weee | ifwe g
freR =/ g R | & foafe frow w@ Sigdl | mufs feses st -
o faeag | wf feen Freeeret s s Raeang 2 a1 TSRy 19y

Nifav and Nischalrcan do a work in 18 and 24 days respectively. They
both together started the work. After 6 days, Nirav left the work. Then
Nischal finished the remaining work. In how many days Nischal
finished the remaining work? Find. - : 7.5

. T I TR HERA EE T xooomﬁﬂhlzﬁﬁlaﬁamsé

TR T e T e 4% ATH T K el 4% T SR

¥ IHAE AT @ A F A @ 2 Rl Arun

_bought two mobile sets at Rs. 4 ,000. Whilé the two mobile sets were
sold at the same selling price, he had to bear 5% profit on one set and
5% loss on another set What is his loss or profit percentage" Find out.

-3
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whfaeTs fofes wien

08¥/3A45
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RERS UL » e
TG I : : -mxm:‘loo

o : mﬁ@mwuﬁm :

mmmmmwummmﬁw. ‘

[ = T AT o ST g | :
s = Y0 IS
q. mmwmmmmmmmm
- SO TR R0
Describe in detall about the role played by Rastriya Barnjya Bank in
economic development of Nepal. - 20
‘ﬁmamﬁﬁammwﬁiﬁmmwméammw

,mﬁmmmﬁmmmwa ? S

“ﬂ'@'ﬂ‘ ; 30

According to Bank and Financial Insntunons Act what financial
transactions are allowed to perform to the 'A’ class bank and financial
institutions licensed by Nepal Rastra bank ? Explain . 10

TRATIE ! & B 7%@@&1@9%36@@?1&%&?%@?&%

: ﬁmﬁaﬁﬁm@maﬁmn : : 0

°  What is auditing? Elgborating the types of auditing, discuss about the

matters to be considered in internal auditing.

WWMW:WWWWW%%

g ? AfeRaR =0 TR | )~ 5 4+9}=R0
What is meant by financial statement? What are the objectives of preparing
financial statement? Explain in detail. : S -8412=20
&)  gEA Iafy Geam sl & 3’! ? e %

What is IT security? o2 5
|) mﬁémmamafmaﬁaﬂﬂaa| . @A x¥=9%)
" Briefly explain the following terminologies. = (3 x5=15)

@ fgvde € (Windows Word)

(®) U fe (Excel Sheets) -

(3) ER SEE (Power Point)
Qaa
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u@amﬁmﬂmmm S, e, m(ﬂ?ﬁ)m
mmmf‘afiaam

00¥/3/%

foug: mnﬁam%mm

’ WMWWWWIMWWEWI :
(SI&TTh] H1E2H ST ATt &1 S g :

s

ol e 9fea & @ 7%%@%@%%%@?
H‘Tﬁﬂiﬁﬁﬂh ﬁmiﬁﬁmé@ml What is decision makmg

_process? What are the affecting factors to decisive capability? 5 +8+7 =20

wmmﬁmﬁmmmmummuﬁaﬁ

ﬁﬁ@mﬁqﬁamnﬁmaﬁméﬁﬁamw“#ﬁ
-mmfamﬁwqﬁqaaﬁmw@anﬁam 5 +9 =30

~ Elucidate the main points to be considered in letter writing. Present a

sample circular letter to send all the branches, stating to submit monthly
progress report regularly to the head office of Rastriya Bam)ya Bank at the

mm&mnmmmm:mmm

: gﬁwmmﬁaﬁwwﬁrmmﬁwﬁﬁ:mw ? S

T4 | Define trauung Describe about its types. Which fraining method is
appropriate for junior or assistant levels staffs of Rastriya Banijya Bank?
Explain. o - 3+6+11=20
) iowﬁmﬁh@umﬁuama&rmmﬂ#m
il fereneffet wo sremhwwT 9 e T 2 A g
If 45 students obtained more than 70 marks among 60 students, how

much percentage of students got lower than 70 marks?

®) = Tee e e iooomﬁﬁnouﬁmmﬁaﬁnﬁﬁm#
o=t Ted wfa B 2 If a mobile set was sold at 20 percent profit

after purchasing it at Rs. 6,000. What was it's selhng price? 5

; M. T 9,300 HieEH ¥ TR S @ Hi I T, 90 TR S

- 9Ig"®? How much years need to gain Rs. 720 sunple interest of Rs
1200 at the rate of 15 percent per annum?

: ﬁmmmwvmmmmmém
Tt fan gl svos mEw © ? FESERT fersor Yaren et
- TIEi‘Ts? ’é’@jﬁ?{ | What is remittance income? What sorts of

. remittance facilities have been provided by RBB to it's customers? What -
= you should be done for effective remittance facxhhes" Write down. 3+7+10—20
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-specified time. 8+12=20
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ORI dTed TR 6 S 15 ? T IR | 0+90=R0

mmwm.mmﬁmwmﬁm
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WWWW’T@HI © 3+9490=30
ST qusr%ﬁaﬁ

.aﬁﬁmaﬂiﬁa‘am - 6+6=12
_®) TS (word) amqa%a(ﬁxcel)aﬁzw‘?ﬁm ety

W) T YA UET SUEEE (Data Security Measures) :

T) = HfaféeR! 7e (Importance of IT)
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- I (Conflict Management) 1 W F& TUEE ATARITS ?
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T ‘Digital Documentation' T 'Electronic Document Management

System'aﬁaaﬁfwmnaémmmmmmm :

: _ ¥+5+5=0
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9.

q0.

; e H : S Yo A
SR 90 THeRL | Write down. about the development of banking
concept. Describe current status of Banking sector of Nepal. =~ 5 +5=10
IR 2 fedoata! Uit &% <0t gEdi=s! W S TR | Giving the
introduction of share and debenture, describe the differences between of
these two. e : & : 5+45=10 .
HEHT U, 053 mmmwﬁmﬁmmm
Ieer@ TR | Describe about the Special provisions relating to company
not distributing profits as per Company Act, 2063. i 10
3 A e Sen gedl T, 003 T Seerd T SEtem S qen ferdt
e T, T o STt T W eI W TR | foc
Highlight on the provisions on Merger and Acquisition of Bank or Financial
Institutions as mentioned in Bank and Financial Institution Act, 2073. 10
s E e ) ‘Yo Hrg
T AT faaom TREE e | R e e sel w@n e

" SeEUrEEd T IHER, | Give an introduction of Cash Flow Statement.

How is Cash Flow Statement prepared? Clarify with example. 3 +7 =10
% I TEREH TS TG TR REE T2 S fegers |
FEITEH! FTE AT AT TIAH F&i| 1D IR THREI . X +¥%=90
What type of errors a Trial Balance can not show? Examplify. How is the
effect of those errors on Profit and Loss Account? Describe.’ 545=10
a@mzﬁmtwmmmﬁmﬁﬁm@m@,
2 T e T S S Aeee e TS ? SEgerd | Explain about
the causes of and need for providing depreciation. Which factors should be
considered while determining the amount of depreciation? Write. 3 +3 + 4=10
Afrifirem w1 3 fifi ARt s ST T T ‘
WeRT THaIE | Highlight about the techniques of inventory ‘management while
: 10

in the condition of uncertain demand and certain demand.
A L e : ; “ROHF
E-mail system & T & TS ? WA AEgO L _ 0

How does e-mail system work? Write in brief. el
Intranet ¥ Extranet S5 i GeASIRN | Extranet 1 PRI & T 2
Ui T | Differentiate between Intranct and Extranct. What are the

 benefits of Extranet? Describe. : 5+5=10
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g 3w fore qpﬁ@:qw

foawg : =EeE, it g & gt

| ma@wgg@?mgﬁamé@mlmmmﬁmu |
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S F %0 ITH

'mmwﬁwﬁa@mﬁqmmmaﬁﬁﬁa@ &7 Maslow 1
- Hierarchy of Needs ’Iheory?ﬁ'ﬂﬁﬁiﬂﬁmm T%ﬂﬁ? ? '3?51’@’13’@'&[[

. 3+9 =10
Define monvauon How is the effectiveness of Maslows errarchy of

_ needs theory for the motivation in banking sector of Nepal? State.3 + 7 = 10

T TR S SeRN | S SR W

SO HE T Hichrs 2 T UHR | e Y0
Write down the interrelationship between conflict and stress. How can be
stress of employees managed in an office? Clarify. » 5%5 =10

. aﬁmﬁqﬁwﬁmuﬁmwmmﬁmw

el 9 2 fhe 2 v TR ; : 1+0=90
Write down the definition of record management. Which stage is most
important in the record management cycle? Why? Describe. ‘3+7=10

Syl S T foria HEATEEAT S FouReh MRS WA S 2

TH- eI vl ﬁmfm RaE HEd mﬁm YIRS ? W
TR ¥ 45=90
What various means of communication are used: in modem bank and
financial institutions? How does it help to management in fiecxsnon making
process? Explain. - 4+6=10

Wuwwawwrmaﬂamamfmmm

R R 90

Clarify the similarities and differences between Total Quality Management
and Quality Circle with appropriate examples. e )
TGN TAITHTR SR & 812 A% Y FHaRrens SaeysTa! e
memméaw ? M THR |
What is socialization in an. orgamzatxon" If an employee is not socialized
after his/her selection and posnng, what may happen in an organization? .
Explain. : : v 3 3 +7=10:"

L =9 ¥
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' mmmmwm@mn

Ifa financial institution has disbursed total loan of Rs 50 bx]hon of wh1ch

125.50 percent in agriculture sector, 30.25 percent in business sector, 20

percent in tourism sector, 10.75 percent in industrial sector and the rest in
hydropower sector have been invested.- Fmd the invested amount in each

sector. -10
mmmmmaw.mmmm
ST 3:¥ TAS ¥ SHIeEh] Teteh] SR T TR | 30
There is a ratio of present ages of two girls is 2:3. After 7 years, if the ratio
of their ages will be 3:4, find their ages at present. e 10
ECLERE| R0 g

o mﬁﬁ{nmﬁﬁwﬁmmfwﬁqﬁﬁmmém

EHWIBFWME?QEEETW‘ fotmu fisase == SuRE

- FFereTEe TRGIeT ? TSR RO T THER | %% =90

- In Nepal, remittance has not been entered as éxpectéd through the banking

system. What problems has it created? What measures should be adopted to
make inward flow of remittance through bankmg system? Present you
opinion. - : w5t 5 =10
w—mmﬂwrw—hmﬂm wﬁﬁwv S-SR
WIW~WMWWWamm|ﬁIﬁR

| AEER B? : ¥ +%=90

What do you understand by inter-branch and inter-bank transaction? State

~the method of checking accuracy of inter-branch and inter-bank transaction.

Why is i} nec.essary? 5 4+6=10
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: 019%/03/0
T : WIH :
w3 quie 900

e « S, S o TR

1 mmwmmmu mwgﬁ?mﬁzﬁm |

Y0 IEH

=y mmmmmﬁmwmu 90
Discuss about the main challenges occurred in the banking sector of Nepal. 10

3. o S e et itetor s 2 e T et o SFER Hai

e e S RS 2 AU TR © ¥+=90
Why is loan classified in commercial banks? How the loan loss provxsxon is

made as per the directives of Nepal Rastra Bank? Describe. 3+7=10.
3. S ao fomia S g U, 003 IR Siftea Seeed IEa TH

; T FTEEE TR T TR | 0
According to Bank and Financial Institutions Act 2073 explain in deta11 /

“ the works that can be yerformed by commercial banks. .

¥. Sferem gt 9o TS U, R0%¥ mﬁa“ﬁﬁanwvﬁahmﬁ#ﬁﬁﬂ

HETEAY TR TR, | Highlight on the various acts that are deemed to be

_ "Banking Offences" under the Bankmg Offence and Punishment Act, 2064. 10

_ Y0 SEH

A ﬁ%mﬁﬁammﬁ%mmammﬁ

ST SETIHIerRh] 1H, s 7o SR Seaid Tge | 4 + 4 =190

Highlighting the importance of internal audit in banks and financial

mstmmons, elaborate the functions, duties and rights of an internal auditor.

%. THER 98 W1 TSR] SR 98 Wl WOlell HE4 Sel SR B,
M TS SRR A YOS Teh] THRRTEE TETer | §+¥=90"
How is double entry book keeping system is more scientific than single
entry book keeping system? Explaining, write the disadvantages: of double
entry system of accounting. - 6+4=10

v, 5 el & RIES >fa=é’tarawmmwﬁ% ? SeRTd TRy |

“.What do you understand by mventory" How is mventory managed? Elaborate.

5. ST St SRR it Tesrer Sifaas! sRA == THe | Joume
g o T STeersH T SUHeE Wegd THer | L +%=90

- Discuss about operational risks inherent in the transactions of commercial
bank. Present the measures to be adopted to reduced the operational risks.
gue: T R0 m

% Internet T D B 2 T S 7o T 2 Extranet ¥ A F9 B 2
e &g T eI | What is internet? What is it's importance? How

.. does it differ with extranet? Clarify with giving examples. 3 +3 +4=10

90. Database SRl & FHS ? TITeh! T HE TH Alhes ? STHEE AI&gord |

: WllansmeantbyDatabase?HowwnDatabesemred"Wntemeasures 3+7 10
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wore fraem smal & @ ?wmmmmﬁa

Bt ? I THRIE | What budgetary control? What are the prerequisites to
“make budgetary control effective? Elaborate.- : . 3+7=10

R A Yo 91 o SR 9ol 9 e e av
TR | Highlighting on the functlons of leadershxp, describe the affectmg

~ factoss in decision making. : 5+5=10

mtaﬁﬂﬁmm'*%ﬁ ? SV S SRl TR
A F FohIeh! Hrsferey] ot S9gw &0, HRUHME Saeges | What

~ are the differences between filing and indexing? Which type of filing

method is suitable for the institution hke a commercial bank? State with

reasons. - ‘ 5+45=10
WWWWW#%@?W?&W
aﬁamﬁamﬁammwrfammj@u - L +¥ =90

. What are th€ basic objectives of communication in an office? nghhght on the

con51derable key points to achieve those objectives in an organization.5 + 5 = 10-

T&gd ﬂﬂﬁ?{ | Present a sample of job description for a senior assistant post
of administration service of an office. 10
Wwwmmwwmﬁmmﬁﬁﬁamm
T AFE TR SRR TS . YT SHoaeE SeE
TR | Clarify the concept of Total Quality Management (TQM). Elaborate
main dimensions of TQM relating to human resources that suits to a ﬁnanc1al :
institutions." - 4+6=

e g 30 m'

'zﬁﬁ@ams 3,000 T S FFA 7. ¥,000 et WA T Ao
| aiftie 9¥ Wi SXe SIS URAEE W S T | A e S

STEfaTie T5ha ST IS TE T K4 SRl St TR S Suerey
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q0.

Hari dep051ted Rs. 2,000 in a bank and Rs. 5,000 in another bank in fixed
deposit account to get interest @ 14% annually from both of the banks. If
the first bank provided half yearly compound interest but the second bank
provided yearly compound interest, which bank prov1ded more interest in
five years? Find. : el O
TR, mmmawwxaommfmuw ET|
T TEEE FET S TR 2 HSTH S SHEET HE DI | RS

TN T SRR S 9:¥ ] | HTHER Hicor sreed we v g 2

“On monday, there were 8 girls and 20 boys in a class. On tuesday, certain

number of girls joined the class but twice of that number, boys left the class.
Then, the ratio of girls and boys became 7:4. How much boys had left the
class on tuesday? 10

e . oFEm

ﬁmaﬁq \ﬁﬁ%ﬁ 2 STy HERITH T REs 7avhﬂzi€m| 3+9=9
~ What is meant by fund in a bank? Why is fund managed? Explain: 3 +7 = 10

ot TSt ST S RS SITEHEEh Al TR B 2 TR 58
mmﬁmﬁm@ﬁmmmwnﬁa>wv@m

- What types of risks a financial institution’ have to face nowadays? As per
-BASEL-I], how is capital adequacy rano calculated of a commercial bank?

Clarify. . , - 6+4=10
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mwmmmﬁmmmmm@qﬁ
Sehh! T T FREE eI THRE |

: _Describe the functions of Nepal Rastra Bank regarding the government's
- financial advisor and bank of the banks. : 10

mwmmﬁmwmxﬁmwwwﬁm

’wmmmmmmmnﬁmn L+Y¥=90

According to ‘Nepal Rastra Bank Unified Directives, what is meant by
performing and non-performing loan7 mention about the loss loan provision
related to these loan. EE5+5=10

'mwmmmmmﬁémm%mmwm

mma«n%mﬁ?ﬁammwmwmm :
TSI T TS 2 UM THRIY | What kind of pumshmem Nepal Rastra Bank

(NRB) can impose to the banks and financial institutions when they violate
the orders or directives issued by Nepal Rastra Bank? Describe. 10

ﬁmﬁgﬁwmmﬁﬁﬂ 3083 % foRivae® fawga wwmn g

" THeRT | Describe i in detail the features of Electronic Transacfylon Act, 2063

of Nepal. : 10
gls: & : : Y0 HEHh

»mnﬁmwﬁaﬁa‘?z‘: ? TG TR 39 e (Tef/atae) H1 3

HH g3 A AETEHAH! YS! T & ? SRTERVTE(Ed R IR |

~ What is trial balance? Is the equality of total amount of both sides :

(assets/hablhnes) of trial balance only the proof of fairness of accountmg"

-Highlight with examples. 4+6=10

o Fsheeenl Il F9 wTH B A mﬁﬁﬁwﬁfrﬁaﬁqmuﬁmﬁ ‘
T 3@ THe | What is Capital Fund of Commermal Banks?
Describe the process of Capxtal Fund calculating of these banks. 10
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